

KED & Co.

09/25/2025 08:00 AM | Delivery installation day 1 Drape and Chadnel 09/26/2025 09:00 AM | Delivery and installation Furniture 09/27/2025 09:00 AM | TOUCH UP 09/27/2025 04:30 PM | STAND BY 09/29/2025 08:00 AM | STRIKE PO: Shipping Address: Invoice Date:

Due Date: Upon Receipt

Salesperson: Romina Manolio

Description		Qtty	Price		Total
House Entrance					
	CUSTOM MADE TABLE CLOTH FOR HOUSE TABLE OCTAGON TABLE - 57 1/2" LENGHT X 33 1/2" H EACH SIDE 24" WIDE IN CHAMPAGNE	1	\$409.50	Т	\$409.50
			Total House Entranc	ce	\$409.50
Ceremony					
	Garden Gazebos & Cabanas - 10' X 10' Cabana Frame 10'x10'x10'H White Wash - With Flat Champagne Sheer Voile Flat Ceiling 10' x 10' x 10' - Chandelier not included	1	\$643.50	Т	\$643.5
			Total Ceremony		\$643.50
Restroom Cover	7				
	Mirrors - Wavy Full Length - Multicolor In Arkade White Frame Color. 24"W x 63"H	2	\$201.83	Т	\$403.6
	Panels - Hedge Panel 4'x10' To be used 12'H and Double Sided total of 22 4'X10'H	11	\$187.20	Т	\$2,059.20
, and a decision of the second			Total Restroom Cov	\$2,462.8	
Kitchen Cover					
	Panels - Hedge Panel 4'x10' to Be used as 12'H - L Brakets and Sand Bags to hold 4'X10'H	8	\$187.20	Т	\$1,497.60
		Total Kitchen Cover		er	\$1,497.60
Cocktails					
	Bars - Geometric Natural Wood - 8' 8' x 2' x 42"	4	\$760.50	Т	\$3,042.00
	Fabric Treatment to Cover " Man Cave" 80'x 13'H To Cover and reveal right after Natural Gauze with Backing Double Sided with Valance	1	\$1,755.00	Т	\$1,755.00

Description		Qtty	Price		Total			
			Total Cocktails		\$4,797.00			
Fabric for inside	Fabric for inside and outside tent							
	Silver Sequence Panels to Be Behind Stage 30'x 10'H IN stock	1	\$579.15	Т	\$579.15			
	Fabric Treatment to Cover Tech Area 15'x 5'H flat Fabric TBD	1	\$140.40	Т	\$140.40			
	Custom Made Treatment for 10'x20'x10'H Frame tent 4- Window Layers Arches creating en entrance with no Backing IN sheer Voile Champagne	1	\$1,872.00	Т	\$1,872.00			
	Main Ceiling Treatment	1	\$5,265.00	Т	\$5,265.00			
	To Openly swag a 40x 80 tent in Sheer Voile Champagne							
	Custom Made Flat Walls in sheer To Create the same Arches as entrance with no Backing for 2- 40' x 10'H sides and 2- 80'x 10'H sides in Sheer Voile Champagne	1	\$3,744.00	Т	\$3,744.00			
	Fabric Treatment to Cover Stage Tent 12'x30'x 10'H Back stage to have 2 Arches and 2 to have Same arches where Sound will be hidden in Sheer Voile Champagne	1	\$1,404.00	Т	\$1,404.00			
	Fabric Treatment to Cover Bar Tent 12' x 50'x 10'H Sides to be arched and back Wall to be Arched as well to Follow the Legs of the tent in Sheer Voile Champagne	1	\$1,872.00	Т	\$1,872.00			
	Fabric Treatment to Cover Outside Tent to Conceal Tent From Cocktail to Reception 250' x 10'H to Be removed with Stand By -Flat Fabric	1	\$3,627.00	Т	\$3,627.00			
	In TBD Color and Fabric Custom Made Valance in TBd For inside and Outside 250 for outside 370 for inside	1	\$2,925.00	T	\$2,925.00			
	Total Fal	Fabric for inside and outside ten		ent	\$21,428.55			
Chandeliers In 1	Tent							
	Chandeliers - York - White Flowers 43" 43"W X 44"H - 46LBS - 300 Watts	7	\$936.00	Т	\$6,552.00			
	Chandeliers - York - White Flowers 61" 61"x61"H - 80LB - 450 Watts	2	\$1,287.00	T	\$2,574.00			
		Total	Chandeliers In T	ent	\$9,126.00			
Bars for Recept	ion			J \	Ţ2,1.20.00			
	Bars - Carmel - Straight 10' Bar - Icon - Straight 10' - Champagne Velvet Channeled With Paintable top 10'W x 30"L x 42"H - Front Options Upon Request	2	\$1,404.00	T	\$2,808.00			

Description		Qtty	Price		Total
	Barback - Tokyo - Straight Basic 6' X 8'h - Metal Painted in TBD 6'W x 18"D x 8'H	2	\$315.90	Т	\$631.80
		Tota	Total Bars for Reception		\$3,439.80
Other Items					
	Stage Front TBD 20' x 22"H Front 2 - 12'x 22"H - Left and right Sides to Be Wrapped with Scuba Color TBD	1	\$2,925.00	Т	\$2,925.0
	Console Tables - Oval Antique Brass 48.5" x 15" x 32"H	4	\$198.90	T	\$795.60
	Dj Booth - Mirrored Curve 70âN N W28âN ND x 46 ½âN NH	1	\$585.00	Т	\$585.00
	Props - Misc - Disco Ball Sculpture	2	\$204.75	Т	\$409.5
			Total Other Ite	ms	\$4,715.1
Covering Frame	es				
	fabric to Cover Frames Color TBD	1	\$3,159.00	Т	\$3,159.0
		То	tal Covering Fram	ies	\$3,159.0
Tennis Court					
	Panels - Hedge Panel 4'x10' To Cover Kitchen area 4'X10'H	7	\$187.20	Т	\$1,310.4
			Total Tennis Co	urt	\$1,310.4
Services					
	Delivery day 1 Fabric installations	10	\$600.00		\$6,000.0
	Delivery installation Friday- Hedges and furniture	6	\$600.00		\$3,600.0
	TOUCH UPS CREW	4	\$450.00		\$1,800.0
	STAND BY 2	2	\$350.00		\$700.0
	Strike Team	6	\$550.00		\$3,300.0
	Transportation Needs to Be open Bed Trucks - Bring Ramps to off load	4	\$250.00		\$1,000.0
	Flame Proofing	1	\$2,500.00		\$2,500.00
	Manager on Site	1	\$1,500.00		\$1,500.00

Please make checks payable to Revelry, Inc.

Total Products: \$52,989.30 Total Labor/Services/Misc: \$20,400.00

Note: Prior to deliveries and pick-ups all invoices must be pay in full Please ready the contract and sign it

PDF Generated on 08/26/2025 @ 05:42 PM PST

Notes

Wear & Tear (2.00%): \$1,059.79

Packing (2.00%): \$1,059.79

Taxes: \$5,033.98

Discounts: (\$0.00)

Total: \$80,542.86

Payments: (\$0.00) Balance: \$80,542.86